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Problemas de Matematicas 4° de ESO

Noviembre 2002
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Inecuaciones:

C 22— T2 —30=(z+3)(z—10) <0

22 —152+44 = (r—4)(x—11) > 0

22 +3r—4 = (z+4)(z—1) >0

2?4 r—6=(z—-2)(x+3)>0

22— 10z —11=(z+1)(z—11) <0
22— 9r4+20= (v —4)(z - 5) <
2?4+ 5r—1d4=(x—-2)(z+7)<
2?2+ 3z—54=(r+9)(z—6) <
22 +31r—40 = (z+8)(x—5) >0
22+ 9r+14 = (x+2)(x+7) >0
22-3z—4=(z+1)(z—4) >0
22 -1z +18 = (z—2)(z —9) >0
22 —-122—13 = (z+1)(z—13) > 0
2?4142 —15 = (z+15)(z—1) > 0
2?2 —11x—42 = (z—14)(z+3) > 0
22 —T7r+6=(x—1)(z—6) >0
22— 13z +22=(z—11)(z—-2)<0
2?2+ 13z —14=(z—1)(z+14) <0
22 -9 —-22=(x+2)(x—11) <0
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Sol: (—3,10)

Sol: (—o00,4)U(11, +00)

Sol: (—o0, —4)U(1, 4+00)
Sol: (=00, —=3)U(2, +00)
Sol: (—1,11)

Sol: (4,5)
Sol: (—7,2)
Sol: (—9,6)
Sol: (—o0, —8)U(5, +0)
Sol: (—o0, —7)(—2,+00)
Sol: (—o0, —1)U(4, +00)
Sol: (—00,2) U (9, +00)
Sol: (—o0, —1)U(13, 4+00)
Sol: (—o0, —=15)U(1, +00)
Sol: (—o0, —3)U(14, +00)
Sol: (—o0,1) U (6, +00)
Sol: (2,11)
Sol: (—14,1)
Sol: (—2,11)
Sol: (—o0, —10) U [—3,7]
Sol: [—11,—-8) U [7,+00)
Sol: [~7,—5) U[11, 4+00)
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z?—z—6 _ (z+2)(z—3) <0 Sol: (—oo, —3) U [—2, 3]

z+3 z+3 =

zi48r-40 (w+§>j§*5) >0 Sol: [~8,5] U (7, +00)
223070 (x+793(+12*10> >0 Sol: [-7,—2) U [10, +00)
Eoets = EEEE <o Sol: (—00, —6)U[~1,13]
x2—;iaé+52 _ (x—4$)J(rff:8—13) <0 Sol: (—o0, —8)U[4,13]
:BZ;ZSEP’O _ (x+2)_(ﬂlc;10) >0 Sol: [—3,10] U (11, 400)
x2;f§2 = (x_ilgﬂ) >0 Sol: (=3,—-1]U[2,400)

210 _ eh)r2) Sol: (—o0, —5] U [-2,2)

2627 _ fotlle=T) < Sol: (—o0, —2) U [~1,7]

2212 — @84 5 ¢ Sol: [—3,—1) U [4,+00)

da 18 _ [a=0)atd) > Sol: [~3,5) U6, +00)

Zitiz—d _ @D < Sol: (—o00,—4]U[-1,3)

;pti}rg?r% _ (wfi)Jif;*S) <0 Sol: (—o0, =7) U [3,8]

2at _ @8)e-l) 5 ¢ Sol: [=5,—1) U [1,+00)

itdebd _ (2t9e=6) < ¢ Sol: (—o0, —9] U (—2, 6]

2 Ecuaciones exponenciales:

1.

2.

272 L 97+l _ 1= Sol: = —1,169925001
3+l 4 3r — 3771 =2 Sol: z = —0, 5517286062
2r=2 _ 9oz 4 gr—1 — Sol: No tiene solucion.

.3 2492.30 =1 Sol: & = —0, 6801438331
r=1 _3.47 4 42 = Sol: No tiene solucion.
22—l 4 g2+l _9 — ¢ Sol: = = —0, 2715533031
522-1 1 3.5 —2=0 Sol: = = —0, 2778665354
322 3=l _1=0 Sol: = —1,011034949
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92e+1 _ g . 9z—1 _ 3 _
92r—1 _ g 9142 _ 9 _
720—1 _qa+l _ 9 _
62— _gr—1 _ 4 —
pdz—1 _ 52+l _ g _
ghz—1 _ g2241 _ 7 _
Thetl 3. 728 _ 5
gdz+l 4 9. 322-2 _ 9 _
odet2 | 3. 920 _ | _

54x72 +52x —1=0

Sol: x =0, 7275884076
Sol: x = 4,594878436
Sol: x = 2,002970617
Sol: = = 0,9437163029
Sol: x = 0,4606479652
Sol: 1,034204992
Sol: x = —0,1076980693
Sol: z = —0,1129051332
Sol: v =—1

Sol: x = —0,01174112826



